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[CHsCOOH] = 1.0x10"! mol/L., [ CHsCOO ] =8.0x102mol/L & LTEL>,
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[CHcoom~ 20T =Kax 0]

1.0x10~! (mol/L)
8.0x10~2 (mol/L)

KFA A BEIZ, 1.8x 1075 (mol/L) X = 2.25x 10~5(mol/L)
pH I,
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—log10(2.25 X 107%) = — log1o( ZXIO"B) = — (log1032 — log1022+ log10107%)=4.64
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[CHsCOOH][H-] [CHsCOOH]
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KEA A BEEIE. 1.8x1075 (mol/L) x 120 moll) _ 5 o5 10"5(mol/L)
8.0x10~2 (moVl/L)

PH 1%, -log102.25%105 = -logio 2X10'5) = -(log1032 - log1022* log10105 = 4.64
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CH3COOH & 729 , CHsCOOH DRI L T % % d T, [CHsCOOH] = (1.0x10!
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(8.0x10~2 — 2.0x10-2) (mol/L)

1.8 x 10~5(mol/L) x = 3.6 X 1075 (mol/L)

pH %,
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—logi10(3.6 X 1075)= — log1o( 5 x107%) = — (log1032 + log1022 + log101076)= 4.44
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CHsCOOH & 72 . CHsCOOH O E# I3 ¢ % 20 ¢, [CH3COOH] = (1.0x10!
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7% -7- CHsCOONa (352 E@+ 50T, [CHsCOO]=(8.0x102-
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(1.0x1071 + 2.0x1072) (mol/L)

8x103
1.8%x105 (mol/L) x (8.0x10-2 - 2.0x10-2) (moV/L)

=3.6 x107° (mol/L)

pH (3. -log103.6x10% = -logio( %‘Xloﬁ) = -(log1032 + log1022 * log1010°¢ = 4.44




